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Question 1
Incorrect

Mark 0 out of 1

Question 2
Correct

Mark 1 out of 1

Select one:

The value of  for which the solution of the initial value problem , ,
 approaches  as 



α + − 2y = 0y′′ y′ y(0) = α

(0) = 1y′ 0 t → ∞

− 3
2

1

− 1
2

−1

The correct answer is: − 1
2

Select one:

The function  is a solution of the differential equation



y(t) = cos(2t) + sin(2t)e−2t e−2t

+ 4 − 5y = 0y′′ y′

− 4 + 5y = 0y′′ y′

+ 4 + 8y = 0y′′ y′

+ 4 + 5y = 0y′′ y′

The correct answer is: + 4 + 8y = 0y′′ y′

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Question 3
Correct

Mark 1 out of 1

Question 4
Correct

Mark 1 out of 1

Select one:

The general solution of the differential equation  is



− 2 + 3y = 0y′′ y′

y(t) = cos( t) + sin( t)c1et 2–√ c2et 2–√

y(t) = cos( t) + sin( t)c1e−t 2–√ c2e−t 2–√

y(t) = cos(2t) + sin(2t)c1e−t c2e−t

y(t) = cos(2t) + sin(2t)c1et c2et

The correct answer is: y(t) = cos( t) + sin( t)c1et 2
–√ c2et 2

–√

Select one:

The longest interval in which a unique solution of the initial value problem
, ,  is certain to exist is



t(ln t − 1) + t + y = csc ty′′ y′ y(1) = 1 (1) = 1y′

(0, e)

(1, π)

(1, e)

(e, π)

The correct answer is: (0, e)


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Question 5
Correct

Mark 1 out of 1

Question 6
Correct

Mark 1 out of 1

Select one:

The general solution of the differential equation  is



− 6 + 9y = 0y′′ y′

y(t) = + tc1e−3t c2 e−3t

y(t) = + tc1e3t c2 e3t

y(t) = +c1e3t c2e−3t

y(t) = + tc1e4t c2 e4t

The correct answer is: y(t) = + tc1e3t c2 e3t

Select one:

The solution of the initial value problem , ,  is



+ 4y = 0y′′ y(0) = 1 (0) = −2y′

y(t) = cos(4t) + sin(4t)

y(t) = cos(2t) − sin(2t)

y(t) = cos(2t) + sin(2t)

y(t) = 2 cos(2t) + sin(2t)1
2

The correct answer is: y(t) = cos(2t) − sin(2t)


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Question 7
Incorrect

Mark 0 out of 1

Question 8
Correct

Mark 1 out of 1

Select one:

Given that , , then a possible function of  is



W( , )(t) =y1 y2 t4et (t) =y1 t2 (t)y2

+ tt2et

+t4et t2

t +et t2

+ 2t2et t2

The correct answer is: + 2t2et t2

Select one:

Given that  is a solution of the differential equation ,
. Using the method of reduction of order, a second solution has the form

 where 



(x) = xy1 (1 − ) + 2x − 2y = 0x2 y′′ y′

x ∈ (−1, 1)
(x) = v(x) (x)y2 y1 v(x) =

x + 1
x

− xx2

x + 1

1 + x2

The correct answer is: x + 1
x


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Question 9
Correct

Mark 1 out of 1

Question 10
Correct

Mark 1 out of 1

Select one:

The general solution of the differential equation  is



2 + 3 + y = 0y′′ y′

y(t) = +c1et c2e−t/2

y(t) = +c1e2t c2et

y(t) = +c1e−t c2e−t/2

y(t) = +c1e−t c2et/2

The correct answer is: y(t) = +c1e−t c2e−t/2

Select one:

The Wronskian of any solutions  and  of the differential equation ,
 is



y1 y2 ((x + 1) + + 2y = 0y′)′ y′

x > −1

C(x + 1)−1

C(x + 1)−2

C(x + 1)

C ln(x + 1)

The correct answer is: C(x + 1)−2


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